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(1) P.T.O (2)

Subject : Accountancy
1. Which of the following is not a Nominal A/c ?

(a) Outstanding salaries A/c (b) Salaries A/c
(c) Interest paid A/c (d) Commission received A/c

2. Amount recovered from Rahul, which was earlier written off as bad
debt is debited to Cash A/c and credited to _______ A/c
(a) Bad Debts (b) Bad debts recovered
(c) Rahul (d) Sales

3. Mr. X is a dealer in electronic goods (such as refrigerators, washing
machines, televisions etc) He purchased 2 air conditioners and installed
in his showroom. In the books of ‘X’ the cost of these 2 air condition-
ers will be debited to –
(a) Drawing A/c (b) Capital A/c
(c) Fixed Assets A/c (d) Purchases A/c

5. Starting with over draft balance of cash book in B.R.S, a cheque of
Rs. 5,500 deposited in bank and duly credited in pass book, but not
recorded in cash book ________ in B.R.S
(a) Rs. 5500 will be added (b) Rs. 5500 will be subtracted
(c) Rs. 11000 will be added (d) Rs. 11000 will be subtracted

Subject : Economics
6. A fall in the price of normal good leads to

(a) Shift in demand curve
(b) Fall in demand
(c) Rise in consumer’s real income
(d) A fall in consumer’s real income

7. Expansion and contraction in demand are caused by
(a) Changes in the income of the buyer
(b) Changes in the taste and preferences of the buyer

(c) Changes in the price of the commodity
(d) Changes in the prices of related goods

8. If 20% of fall in price of commodity brings 40% increase in its de-
mand, then the demand for commodity will be treated as
(a) inelastic (b) elastic
(c) highly elastic (d) Perfectly elastic

9. When the price elasticity of demand is zero, the slope of the demand
curve will be –
(a) Horizontal (b) Vertical
(c) Sloping downwards (d) None

10. Total utility starts decreasing when
(a) Marginal utility is positive
(b) Marginal utility is negative
(c) Marginal utility is zero
(d) None of the above

Subject : Business Study
11. Financial leverage is called favourable if

(a) return on investment is lower than cost of debt
(b) ROI is higher than cost of debt
(c) debt is nearly available
(d) if the degree of existing financial leverage is low

12. Treasury Bills are basically
(a) an instrument to borrow short term funds
(b) an instrument to borrow long term funds
(c) an instrument of capital market
(d) none of the above

13. Buy ‘LED Television and a DVD player’ for Rs. 62,500. this is an
example of :
(a) Quantity gift
(b) Discount
(c) Rebate
(d) Product combinations



14. “Many business firms have set up their own consumer services and
grievance cells”. Which right is being highlighted in the given
statement ?
(a) Rights to consumer education
(b) Right to be informed
(c) Right to seek redressal
(d) Right to be heard

15. Which Act formulates quality standards for goods and certify them
through BIS certification scheme ?
(a) The Contract Act, 1982
(b) The Bureau of Indian Standards Act, 1986
(c) The sale of Goods Act, 1930
(d) The competition Act, 2002

Subject : Math
16. The number of proper sub sets of the set

 3,4,5,6,7  is
(a) 32 (b) 31
(c) 30 (d) 25

17. The range of the function :f N N  defined by     11 xf X    is

(a)  0, 1 (b)  1, 1

(c)  1,0 (d)  1,0, 1

18. Evaluate 
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(a) 1/3 (b) 2/3
(c) 4/3 (d) 1

19. If 
4 2

20.p pn n then n 
(a) –2 (b) 7
(c) both (a) & (b) (d) None of these

20. G.M. of three observations 40, 50 and x is 10 the value of x is
(a) 2 (b) 4
(c) 1/2 (D) None

Subject : English
In each of the following questions, out of the given alternatives, choose
the one which is nearest in meaning to the bold words in the sentences.

21. The ‘Facade’ of our school building got a face - life recently.
(a) Floor (b) basement
(c) Top (d) Front

22. There is not a single word that is ‘redundant’ in the report.
(a) bombastic (b) unimportant
(c) flowery (d) not needed

23. In the company of smart and crafty fellows, a ‘gaby’ finds himself out
of place.
(a) simpleton (b) innocent
(c) honest (d) cunning
In each of the following questions, a part of sentence is printed in bold.
Below each sentence some alternatives are given which can substitute
the bold part. Find out the choice which can correctly substitute that
part of the sentence. If the sentence is correct as it is, give ‘No
imporvement’ or ‘No correction required’ as your answer :

24. I earnestly believe that you will visit our relatives during your forth-
coming trip to Bombay.
(a) certainly believing that (b) could not believe
(c) had hardly believe (d) sincerely would believe

25. The accused was ordered to be hung to death.
(a) hung till death (b) hanged to death
(c) hanged till death (d) No correction required

****


